ULTIMATE TEST SERIES - JEE -2020
XIDTEST-03

- e —

PATTERN : JEEZMAINS

Please read the mstructlop( cgféfully You (are aIIoted S mlnutes specifically for this purpose.
You are not allowed to |eave the Examinat on Héll befpre the end of the test.

v “Name : //' \ ‘
W~ \

\
/ -I’

M.M.: 300 ,, 4 ‘ Time @ 3 hrs
BRANCH : DEHRADUN,KOTDWAR. HALD\/@I /AGRA, SAHARANPUR T €8t Date’: 22-03-2020

N
~

nt, (Group 13 18) Hydrogen s-block-Element,, Ores Minerals
Metallurgx,ﬂ

N : : Y,
(INSTRUCTIONS : iy

Attempt All the questions.This Test booklet consists of 75 questions.The maximum marks are 300
There are two parts in the question paper A, B consisting of Physics, Chemistry, and
Mathematics having 25 questions in each part of equal weightage. Each question is allotted

4 (four) marks for each correct response.

Pattern of the Questions : Section —| : Straight Objective Type Questions

Section — Il : Integer Type Questions

There is 1/4th negative marking for each wrong attempt The total duration of the testis 3 hrs.
There is no negative marking for un-attempted guestions.

Use Blue/black ball point pen to fill the OMR
Write your Name and Roll number carefully on the answer sheet as well as the QLLESIIOH papep,7 ’ b

‘B AVIRAL CLASSES

IIT-JEE | NEET | FOUNDATIONS
HEAD OFFICE- : HO : World Trade Tower, 99- Réjpur Road. Dehradun'(U.K.) Ph: 8266057702
4 £

~
|BALLIWALA BRANCH - : Cubic Plaza Near Balliwala Flyover GMS Rd. Dehradun (U.K.) Ph: 8266055533/44 |

[ )
|KOTDWAR BRANCH - : Bhandari Complex Devi Road, Near Tadiyal Chowk, Kotdwar (UK)) 9045062316/6395905997/6395799434i\

|HALDWANI BRANCH - 13/C/117 Ajanta Palace Awas Vikas Tiraha, Nr. Namltal Road Haldwani (U.K) Ph:7302838333/7333
~ o e
IAGRA FRANCHISE - Plot No 808 Sagar Ratna Khandarl Byepass Rd NH-2 Agra(U.P) Ph: 7900691754/8007558787
S Fi | ™
|SAHARANPUR FRANCHISE Near Bajoria Kothi, Opp. Union Bank Delhi Road, Saharanpur (U P) Ph: 8171551585




PHYSICS

An ideal gas expands in such a way that

PV? = constant throughout the process. Select

correct alternative

(1) This expansion is not possible without
heating

(2) This expansion is not possible without
cooling

(3) Internal energy remains constant in this
expansion

(4) Internal energy increases in this expansion

You are given four tuning forks, the lowest
frequency of the forks is 300 Hz. By striking
two tuning forks at a time any of 1, 2, 3, 5, 7
& 8 Hz beat frequencies are heard. The
possible frequencies of the other three forks

are-
(1) 301, 303 & 308
(2) 305, 307 & 308
(3) Both of these
(4) None of these

Three moles of an ideal monoatomic gas
perform a cycle as shown in the fig. The gas
in different states are: temperature T, = 400 K,
T,=800K, T, =2400 K and T, = 1200 K. The
work done by the gas during the cycle is :-

r 3 2 3
f
T 2
—
(1) 10 kJ (2) 20 kJ
(3) SKkJ (4) 8.3 kJ

The equation of a wave travelling on a string

. I X
is ¥ =4sm5[8t—§) .If x and y are in cm. then
velocity of wave is :-
(1) 64 cm/sec in —x direction
(2) 32 cm/sec in —x direction
(3) 32 cm/sec in +x direction

(4) 64 cm/sec in +x direction
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T e T R TN TR gyt e s ¥
Foraeh ford wa PV2 = forereion Wt € € | 98 oA

el

(1) =18 ¥ form et ot s et & werelt 21
(2) = T for Svet ford st =&t & Wit B
(3) TER & SRF T w5 A S e w2
(4) TR B IR | 1 37afw o sedt

=R gy @fE | | 3= od %9 g1 300 Hz
¥ 1 et oS @l B T TR A T U A
W 1,2,3,5,7 Ta 8 Hz forea= emgfrdi 4 4 w8
Y W T | 3T A T Rt W gt entt:-
(1) 301, 303 & 308

(2) 305, 307 & 308
(3) ST AT
(4) 77 9 I T

T THIveeh STyl 19 & <t A 6 = T o
Waidm fFan e 1 fret sroeenstt # & @ F
T, = 400 K, T, = 800 K, T, = 2400 K @en
T, = 1200 K =15 % SR 8 gr1 o e 7 &-

1 2 3
f
1 4
—
(1) 10 kJ (2) 20 kJ
(3) 5 kJ (4) 8.3 kJ

et T WX gmmt @XM wHiE
y=4sing[8t—%) ®, afE x 3R y = A A A
T a@n W 8-

(1) —x fezm & 64 Iit/Thve

(2) —x fewm # 32 Ffi/dwve

(3) + x fagn ¥ 32 G/ Awve

(4) + x feon # 64 A/ Hwve
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In a P-V diagram for an ideal gas (where P is
along the y-axis and V is along the x-axis), the
value of the ratio; slope of the adiabatic
curve/slope of the isothermal curve at any point
will be : (where symbols have their usual

meanings)
Mmi1 (2) CJC,
3)2 4) C/C,

A body of mass 0.01 kg executes simple
harmonic motion (S.H.M.) about x = 0 under
the influence of a force shown below : The
period of the S.H.M. is :-

AFQY)
......... (8,0)
i (42,0)
Z0) s
(_8’ 0) ------
(1) 1.05 s (2) 0.52 s
(3) 0.25 s (4) 0.31 s

An engine blowing a whistle of 256 vibration/

1
second if approaching you with 20 ® the velocity

of sound. The frequency before and after crossing
of engine as heard by you would be :-

(1) 256 Hz, 256 Hz (2)269.5 Hz, 243.8 Hz
(3) 256 Hz, 243.8 Hz  (4) 243.8 Hz, 256 Hz
The potential energy U of a particle is given by
U = 2.5%2 + 100 joule. Is the motion simple
harmonic. If the the mass of the particle is 0.2
Kg, what is its time period :-

(1) Yes, 2.5 sec. (2) Yes, 1.26 sec.

(3) Yes, 5.2 sec. (4) No

An organ pipe produces a fundamental frequency
of 320 Hz at 47°C. At 27°C the fundamental
frequency of pipe would be :-

(1)310Hz (2)320Hz (3)330Hz (4)340Hz
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firdlt oTeYl ¥ B T P-V sm@ | (W P,y-sim
A V,x-318 o ST 2) TSI S5k 1 S/ THTd
o 1 @1, 9T F1 °F, fed fag w gm
(=Tt Tehal & T ot ®)-

(1) 1 @) c,/C,

3) 2 @ c,/c,

0.01 kg ToAHM it T %] FeauR e o=
= FHTE = A=A foreg x = 0 = 9 : Wit Srerd T
T TE Y ST AR B

4 F(N)

......... (8,0)
: (+?’ 0; x(m)

(1) 1.05 s (2)0.52 s

(3) 0.25 s (4) 0.31 s

256 HET/AHUS S 3F 1 Wit SAIHT IR

1

0
IR T Y I8 941 91 | 39 5 A T =l h
agfa = gt ?
(1) 256 Hz, 256 Hz  (2)269.5 Hz, 243.8 Hz
(3) 256 Hz, 243.8 Hz  (4) 243.8 Hz, 256 Hz
T U &t feafaw st U = 2.5%2 + 100 S &
< STl 1 = 1 W i W erdt & 2 Afg wu
= gEE 0.2 fFu. § O U sTadeTa w4
-
(1) Yes, 2.5 sec. (2) Yes, 1.26 sec.
(3) Yes, 5.2 sec. (4) No
T 3T W15T 47°C I 320 T 1 T TR St
AT 71 27°C IR, 9159 g Scqfsia Hol TR 1 Agf
=0 '@ﬁ HTFG'E =
(1)310Hz (2)320Hz (3)330Hz (4)340Hz

& an & Z—I“%nﬁw@%léﬁ?%?mﬂﬁ
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1.

12

13.

14.

15.

There is a black spot on a body. If the body is
heated and carried in dark room then it glows
more. This can be explained on the basis of:-

(1) Newton's law of cooling
(2) Wein's law

(3) Kirchhoff's law

(4) Stefan's law

PV versus T graph of equal masses of H,, He and

0, is shown in fig. Choose the correct altemative:-

(1) C corresponds to He, Bto H, and A to O,
(2) A corresponds to He, B to H, and C to O,
(3) A corresponds to He, B to O, and C to H,
(4) A corresponds to O,, B to He and C to H,

A perfect gas goes from state A to another state
B by absorbing 8 x 10°J of heat and doing
6.5 x 10’ J of external work. Itis now transferred
between the same two states in another process
in which it absorbs 10° J of heat. Then in the
second process

(1) Work done on the gas is 0.5 x 10° J

(2) Work done by gas is 0.5 x 10° J

(3) Work done on gas is 10° J

(4) Work done by gas is 10° J

A spring executes SHM with mass of 10 kg
attached to it. The foice constant of spring is
10 N/m. If at any instant its velocity is 40 cm/sec,
the displacement will be (here amplitude is 0.5m):
(1006 m (2)03m (3)00lm (4)1.0m

The ratio of K.E. of the particle executing
S.H.M.at mean position to the K.E. at point whose
distance is half of amplitude is :

1 2 4 3
(1) 3 (2 3 (3) 3 ) 5

The amplitudes of two waves undergoing
interferance are in ratio of 3 : 1. The ratio of
maximuwn to minimun intensity would be :-
(H1:1 (@2)2:1 (3)4:1 @) 4:3
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ferit o R U e wew 1 Af o W TH
T FHHT AUFNIF FW H o ¢ q T8 sfuh
=Rl B | THeh] R e & R o wHeman s
Hehell B

(1) =23 & it Fram

(2) == =1 Fram

(3) forw=r®s =1 fram

(4) A =1 Fram

H,He T8 O, ! &aH AB1 & fau PV-T ARt #t
I T | W faen oA

T—>

(1)He ® fau C, H, % fAu B, T8 0, % faw A
(2)He & fAw A, H, % fau B, ta O, =% faw C
(3)He = famw A, O, % fu B, wa H, = fem C
#)0, # fau A, He % fau B, wa H, % fem C
Th AR T T e (A) | g sy (B) #
S R @ 8 x 105 o1 STawifee It §, T
6.5 x 10° J oIed %1 <t T 3H 7 qE WhH
BT ST (A) ¥ STeredn (B) | o S W § 35
g 9 105 J HAT SYawifoa et 7, a9 qER
ME R

(1) g T fman ma i 0.5 x 105 T

(2) e gr foFen e #5105 x 10T ¥

(3) ¥ra X foran e wE 105 T

(4) ¥ra gy o e % 105 T R

T Form 3@ 92 gU, g 10 ffm & s &
1Y T 37 T 6 T ) e s 10 =/
21 afe foreh 9o st 1 9T 40 |/ @, @
1 foreara= g (37mEm™ 05 ) ¥ :

(1) 0:06 HeX (2)0-3 HeX (3) 0-01 HieX (4) 1-0 Hi=X
T 1o i HY @ Trsl o1 st mes feafa @@
TS o UE S IHHT g0 A FT S B R,
T 1 e o 1 S B

] 2 i 3
1) 3 () 3 (3) 3 @ 3
SR (interferance) T T SN a4 & 9™
(amplitude) & U 3 : 1 €, gfowH awn *7
afersha & g e § ST B -
M1:1 @2:1 @G)4:1 @)4:3
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A ring is suspended from its one end and
oscillating then its time period for small
oscillations will be :-

R 2R R 3R
(1) 2M2 @) an (3)%& @ Zn\/;g

The pressure and temeprature of an ideal gas in a
closed vessel are 720 kPa and 40°C respectively. If

1
Zth of the gas is released from the vessel and the

temperature of the remaining gas is raised to 353°C,
the final pressure of the gas is :-

(1) 1440 kPa (2) 1080 kPa
(3) 720 kPa (4) 540 kPa

An ideal gas heat engine operates in a Camnot cycle
between 227°C and 127°C. It absorbs 6 kcal at the
higher temperature. The amount of heat (in k-cal)
converted into work is equal to:-

1) 3.5 2) 1.6

(3)12 4) 4.8

A gas undergoes a change of state during which
100 J of heat is supplied to it and it does 20 J of
work. The system is brought back to its original
state through a process during which 20 J of heat
is released by the gas. The work done by the gas
in the second process is :-

(1)60T  (2)40J  (3)807 (4207

A metal ball of surface area 200 cm? and
temperature 527°C is surrounded by a vessel at
27°C. If the emissivity of the metal is 0.4, then
the rate of loss of heat from the ball is :-
(6=567x10%J/m?-s - K%

(1) 108 joule/sec (approx)

(2) 168 joule/sec (approx)

(3) 182 joule/sec (approx)

(4) 192 joule/sec (approx)
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T i T T 9 e Qe iR R 36 oY
I 1 SR B -

R 2R R f3R
2 /— 3 f— /_ om |22
(1) <% " (2 = g (3)2m 22 4) <1 29

T 9 U W TH SMeyl W <@ ud A

g 1
FHYT: 720 kPa UE 40°C ® | afg | =1 o

A | fawrer foar sma aen v i9 %1 ar
353°C @ =gl faan sd i e &1 tf=w q19
i A

(1) 1440 kPa (2) 1080 kPa

(3) 720 kPa (4) 540 kPa

T ISy 116 ST 3519 Tk ! =6 | 227°C TH
127°C =& o=l T =<a1 §1 9¢ I=9ard 9 6 keal
T STEIToE Tl & | SO T &8 WA (k-cal H)
S 1 | gfifora gt ¥ -

(1) 3.5 2) 1.6

(3) 1.2 (4) 4.8

T NH F TF SEAMfaE o€y aiiads § 100 J
o & S € U 98 20 J % w ¢ Freera oy
A ST RS ST § @ S €, 39 whwa
T 719 g 20 J S e Bl ¥ 1 gE) wiwen § T
g fren T FE ® -
(1) 60 J

(3)80J

(2) 40
(4)20 7

TF 1g H1 7 HT A9 527°C AR Y3 &%
200 cm? ® 1 3@ 27°C & 371 41 § T@l 7T ¥
g oI T SeaeA &THaT 0.4 ®, a1 o wif i
T g

(6 =567 x 10T/ m?—s — K¥

(1) (SF1¥) 108 S[e1/&wvs
(2) (SF1¥T) 168 Se1/dwve
(3) (ermum) 182 S@/&%vs
(@) (=) 192 S /dwvs
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INTEGER TYPE

The fundamental frequency of a sonometre wire
is n. If its radius is doubled and its tension
becomes half the material of the wire remains
same, the new fundamental frequency will be:-

n ¥
m where value of x will be

The distance between the nearest node and
antinode in a stationary wave is :-

; where value of x will be

The KE of molecular translation per unit
volume of a gas at 2 atmosphere pressure will
be nearly :

3x10"J, where value of x will be

Two tuning forks have frequencies 450 Hz and
454 Hz respectively. On sounding these forks
together, the time interval between successive
maximum intensities will be :-

% where value of x will be

A Carnot's engine used first an ideal monoatomic
gas then anideal diatomic gas. if the source and
sink temperature are 411°C and 69°C
respectivelly and the engine extracts 1000 J of
heat in each cycle, then area enclosed by the PV
diagram is

25x J, where value of x will be

AVIRAL CLASSES

CREATING SCHOLARS

21.

22,

23.

24,

25,

T WIS a1 &t gt Saf n € afE gwent e
BN S ST ST S T I WA WA

T st enft -
%%‘G{ﬁxaﬁrm‘sﬁm

ST TR H ek e oI Teiieht g & <t Y
T oft ¥

% ¢ Wt x @ A e

X
2 gAY TTe W feord T T Ui A §
STU] T <Rl TSt Satl SITT¥RT Bieil-

3x10*J, & W&l X & 719 81T

T T fgyelt ) smafaal wa: 450 Hz a=n
454 Hz ¥ | ¥ 311 el fgysi &1 Thang s ™
T TR ey derdet & e THarae 8-

1 @
= 2 OEl X & 919 81l

TF FME §o § IR TH TAF 9 @ a5 A
oo W R TR R s § ) afe S T
e & a9 FHY: 411°C TE 69°C ®, Ta 557 Tk
=% § 1000 J AT SEWf & €, 79 PV %
F1 ST B

25x J, & SIEf X &I A &R
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32.
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34.

CHEMISTRY

Decomposition of H,O, decreases in
presence of :-

(1) MnO, (2) dust particle
(3) Acetanilide (4) Aniline
Carbogen is :-

(1) mixture of CO + CO,
(2) mixture of O,+CO,
(3) Pure form of carbon

(4) unsaturated organic compound

A solution of sodium metal in liquid NH, is:-
(1) strongly reducing

(2) blue in colour

(3) good conductor

(4) all of the above

When orthoboric acid is heated to red heat the
residue is :

(1) boron

(2) boron sesquioxide

(3) metaboric acid

(4) pyroboric acid

Which does not exist in solid state :-

(1) NaHCO, (2) NaHSO,

(3) LiHCO, (4) CaCO,

Borax bead on heating with cobalt oxide forms
a bead of :-

(1) Co(BO,), (2) CoBO,

(3) Co,(BO,), (4) Na,Co(BO,),

What is the product formed when Aluminium
carbide reacted with water :-

(1) Acetylene (2) Methyl acetylene
(3) Ethylene (4) Methane

Among the following the paramagnetic compound
is :-

(1) Na,0, (2) O, (3)N,0 (4 KO,

Which of the following carbonate decomposes
on heating into metal oxide and CO, :-

(1) Li,CO,, Na,CO, (2) Na,CO,, K,CO,
(3) Li,CO,, MgCO, (4) Na,CO,, MgCO,
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freer Sufeafa § H,0, %1 fawes w7 & s
®:-

(1) MnO, (2) dust particle
(3) Acetanilide (4) Aniline
ate -

(1) CO + CO, =1 fasm

(2) 0,+CO, %1 Tasrar

(3) FTEH H & T

(4) sTagw FEE A

Wifean uwg 7o 59 ST w1 faeEe g 2
(1) 9oIet STI=Rh

(2) 7 T

(3) 3T=a1 =TeTH

(4) Su |t

Tfg sniefie 3T it T AW a% T R S
qr SFerdrs B -

(1) S0

(2) IR AEFRATATS

(3) AerEifte sty

(4) ISR T

FrE 3 s § s o W %

(1) NaHCO, (2) NaHSO,

(3) LiHCO, (4) CaCO,

SR HAHT Rl hieTee SFATES & WY TH FH T
fros 7 T ® -

(1) Co(BO,), (2) CoBO,

(3) Coy(BO), (4) Na,Co(BO,),
Tfuf=m Fege F 5o % W 5 == W
W ¢ ?

(1) TEifeeta (2) wftrer TEifeeim
(3) ufaen (4) 93
FiE AfE TS € -

(1) Na,0, (2) O, () N,O (4) KO,

= 4 @ s ngmiﬁﬁzgmfrq'aﬂ%ﬂi HTg
SEAES 3R HToT SRS T STTHfEd B &2
(1) Li,CO,, Na,CO,  (2) Na,CO,, K,CO,
(3) Li,CO,, MgCO,  (4) Na,CO,, MgCO,
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38.
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40.
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42,

43.

44.

The metal which give no amphoteric hydroxide
is : -
(1) Zn (2) Cu

(3) Sn ) Al

Increasing paramagnetic character of
dipositive ion : -

(1) Cu*?* < Co*? < Ni*? < Fe*? < Mn*?

(2) Co*? < Cu*? < Ni*? < Fe?2 < Mn*?

(3) Cu*™ < Co*? < Fe*? < Mn*? < Ni*?

(4) Cu*? < Ni*? < Co*? < Fe*? < Mn*?

Which ion is colourless?

(1) Cr* (2) Sc*? (3 Ti® (4) v+

Reducing power decreases in the order : -
(1) Ge*? > Sn*? > Pb*?

(2) Pb*? > Sn*? > Ge*?

(3) Sn*? > Ge*? > Pb*?

(4) Sn*? > Pb*™ > Ge*?

Value of x is potash alum : -
K,SO, - Al(SO,), - x H,O
(1) 6 (2) 24 (3) 8
Solid PCI exist as : -

(1) Dimer P,Cl,, (2) [PCLI[PCI,)®

(3) [PC1,] [CL,] (4) PCI; as such
N,O is isoelectronic with CO, and N,®. Which
is the structure of N,O ?

CR

(1) N=N->O (2)NE§T—8
® o
(3) N=N=0 (4) All are correct
Hydrolysis of XeF, gives : -
(1) XeO, 2) XeO,
(3) XeOF, (4) XeOF,

Elements of which of the following group(s) of
periodic table do not form hydrides?

(1) Group 7, 8 and 9

(2) Group 13

(3) Group 14

(4) Group 15, 16 and 17

1><] >}

Twelve silicate units combine to form the above

structure. The formula of silicate is :-
(1) 8i,,032 @) S8iy0:%

(3) Si})03¢’ ) Sij,055”
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I GTg ST TEgIaEES e o § ;-
(1) Zn (2) Cu
(3) Sn (4) Al

TEEATSITRTe AT <ht sredl gt SAT<FIeh 19 U<l <l el
HAE: -

(1) Cu™ < Co*™ < Ni*? < Fe*?* < Mn*?

(2) Co* < Cu™ < Ni* < Fe*? < Mn*?

(3) Cu™ < Co™ < Fe*? < Mn*? < Ni*?

(4) Cu™ < Ni*? < Co*? < Fe*? < Mn**

e § @ S e TR R -
() Cr*  (2)Sc® (3) Ti¥

STY=Teh &THT T S FH € : -
(1) Ge*?> > Sn*? > Pb*?

(2) Pb* > Sn*? > Ge*?

(3) Sn*? > Ge*? > Pb*?

(4) Sn*? > Pb*™ > Ge*?

TN WHH X FIAFE : -
K,SO, - AL(SO,), - x H,0
1) 6 (2) 24 (3) 8
99 PCL, TEa ¢ : -

(1) Dimer PC1, (2) [PCLI*[PCL]®

(3) [PCL,] [CL,] (4) PCI, as such

CO, RN, ©%H 819 N,O Fse s s N,O 6
HTEAT B 2

) v+

@5

()N=N->0 @) N= N-O
(3) N=N=0 (4) SRR ol
XeF, 91 99T WA : -

(1) XeO, (2) XeO,

(3) XeOF, (4) XeOF,

et 1 9§ oned RO FR T & T wEeEs T
T E ;-

(1) Group 7, 8 and 9

(2) Group 13

(3) Group 14

(4) Group 15, 16 and 17

] <
12 faferehe gents STRieRT G oh! R & oedl THToTohe
R Y B :-
(1) 8i,,052*

(3) 81,057

(2) Si,0:?
(4) Si,037”
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45.  Which decomposition is different from other :-
(1) Ag,CO; —> (2) Mg,CO; —2>

(3) Li,CO; —— (4) PbCO, ——

45. Y 3qEeT 3 9 e T i-
(1) Ag,CO, —— (2) Mg,CO, —2—>

(3) Li,CO; —2—> (4) PbCO, ——

INTEGER TYPE

46. How many element becomes passive on exposure in

air ;- Li, K, Na, Be

47. The maximum number of hydrogen bonds formed
by a water molecule in ice is

48. One litre hard water contains 12.00 mg Mg* milli
equivalent of washing soda required to remove its
hardness is

49. The magnetic moment of Kj[Fe(CN)¢] is found to be 1.7

B.M. How many unpaired electron (s) is/are present per
molecule

50. The co-ordination number of Na* in NaCl is

- )\ | AVIRAL CLASSES
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46. =1 fvan org o § wER W frewtg @ St
¥- Li, K Na, Be

47. 9% H TP oA B Y] §RT g9 1] ffHaH ggge
MR} By =T ®

48. UF oilex @R o # 12.00 e, u\ Mg 2t g
JURIT & IS HORAT R B =g AT ST BY
el gouim AT ®

49. K;[Fe(CN)y]#% graasta ameef 1.7 B.M. B, oY s argfiad
solagial @ v wfery 8

50. NaCl ¥ No* 3MIT B THT TET 2
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51.

52.

53.

54.

55.

MATHEMATICS

Lines are drawn from a point P (-1, 3) to a
circle x> + y* — 2x + 4y — 8 = 0. Which meets
the circle at 2 points A & B, then the minimum
value of PA + PB is
(e

(3) 10

(2) 8
4) 12

A variable line ax + by + ¢ = 0, where a, b, ¢
are in A.P., is normal to a circle

(x— ar)2 +(y- ﬂ)2 =y, which is orthogonal to
circle x* + y*— 4x— 4y—1 = 0. The value of
a+ f+y is equal to

()3 2)5

(3) 10 4)7

The locus of the orthocentre of the triangle
formed by the focal chord of the parabola
y? = 4ax and the normals drawn at its
extremeties is

()y*=a(x-3a) (2)y’=a(x+3a)

(B)y’=a(x—4a) (4)y*=a(x+4a)

Point from which two distinct tangents can be

drawn on two different branches of the

2

hyperbola S

25 16 but no two different

tangent can be drawn to the circle x* + y* = 36
is

(1) (1, 6)
3) (@71

@)(1,3)
1
OIS

If area of quadrilateral formed by tangents
drawn at ends of latus rectum of hyperbola

x2 2
o —%=1 is equal to square of distance

between centre and one focus of hyperbola,
then e’ is (e is eccentricity of hyperbola)

(D 242 (2)2
33 (4) 8
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51. wEwfogP (-1,3)Fgmx*+y*2x+4y—8=0.W
T Ei S §, S ged ot 2 fageli A td B fierdt
%, 7 PA + PB &1 =" A 21—

(o6 (2)8

(3) 10 4)12

52. wHE=RI@ ax +by+c¢ =0, @ a, b, c TR S0l
8,90 (x—a) +(y—B) =y F = g S
I x* + y— 4x— dy-1 = 0 & TeRT ¥, 7
a+p+y =
(H3
(3) 10

Taad y? = 4ax i A(9F San qen g T W
i T Afiere | 99 e & cash @l foguy &

2)5
4)7

53.

(1) y*=

(3)y'=

a(x-3a) (2)y*=a(x+3a)

a(x—4a) @y=

a(x +4a)

54.  fog fam® <t fu= fu= wufyfar sifqurasa

%_%:1 1 3 wrEnel W e W §) W
g off S fr=-fir woeft 9@ x2 + y2 = 36 W&

o<t <1 g &, &

(1) (1, 6) (2)(1,3)

1
3) (7, 1) @a, 3)

55.  ofs arfoReraa ﬁ—i—j:l & e &

TR e T et e gr e =g 1 aernd,
S A1 SR hi Teh A & AL 4 & a7
S SR &, T e3 BT (e S TURETd 1 Sehvall ©)

(1) 242
(3) 3

©) 2

(4)8
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56.

57.

58.

59.

60.

61.

If T=lim b — cos(x’ —za)

1 - - - is non-zero
x“*ﬂ(x“—:a\)sm(cx —a)

finite (a > 0), then-
MDL=2,b=1,c=1
(2) L:l’b:]_’c:l

92
(3) L=4,b=-1,c=-1

@) L=%,b=—1,c=—1

Let A,B and C are three points on ellipse

X2 y2
.Y 4 e il ;
% T 18 where line joing A & C is parallel

to the x-axis and B is end point of minor axis
whose ordinate is positive then maximum
area of AABC, is-

(1) 12v3 (2)20 (3)15V3 (4) 2043
Minimum distance between parabola
y? = 8x and its image with respect to line

x+y+4=0is-
(1) 242 (2) 3v2
(3) 442 (4) 542

Radius of circle touching y-axis at point
P(0,2) and circle x% + y% = 16 internally-

5 3 5
Ly @y G @2
Consider conic C : 25(x — 1)2 + 25(y + 1)2
= (3x — 4y)% If curve E is locus of point of
intersection of perpendicular tangents to
the conic C, then minimum distance
between curve E and point (2,-1) is-

1 (2) 2
(3) 4 4)3

If lines 3x + 2y = 10 and —3x + 2y = 10 are
tangents at the extremities of latus rectum
of an ellipse whose centre is origin, then
the length of latus rectum of ellipse is -

16 100
W3 @36 @b @5
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56.

57.

58.

59.

60.

61.

2_
% L=lim 2b—cos(x a)

x*a (x —a)sin (cx2 —a)

3Ty aitfa

(a>0) 7, d-
(L=28b=1e=1

(@) L= b=le=1
2

(8 L=4,b=-1,c=-1
1

(4) L=Z,b=—1,c=-1

" AB dur ¢ dw fag  SEgw

2 2

;‘5+i’—6=1 T =9 TR feord & 5 A 991 C A

e arett Ter x 2181 & THAR & 991 B Teete
1 3ifqq fowr & formst Bife v 2, @ B
ABC &1 1fyeran St N -

(1) 1243 (2)20  (3) 15V3 (4) 2043

e y2 = 8x AM W x + y + 4 = 0 & HU
3o wiafews & Ae =ad i eil-

(1) 2V2 (2) 3v2

(3) 42 (4) 5v2

39 gd ! e, St y-2181 1 fog P(0,2) W aun
T x% + y* = 16 1 3<1: T9 FA §, A -

w: @ @ @:
HAI R C : 25(x — 1) + 25(y + 1)2 = (3x — dy)?
¥ afe g E wisha C W St T erreea et
TEstl & yfawk fag &1 fagua §, & o E aen
fog (2,-1) & 7eA =Faq g Bl -

1)1 @) 2

(3)4 4)3

Ifg T@mE 3x + 2y = 10 A —3x + 2y = 10 TEgH
& Ao & fdl o et ¢ wel e € aen
TEaT *1 B qeterg &, @ el & Tifvera
1 TG B -

16 100
W3 @ 36  (3) 445 5
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62.

63.

64.

65.

66.

67.

Let P be the parabola in the plane
determined by the equation y = x2. Suppose
a circle C in the plane intersects P at four
distinct points. If three of these points are
(17,289), (-2,4), (13,169), then sum of the
perpendicular distances from the directrix
of P to all four of the intersection points is-

(1) 1177 (2) 1247

(3) 1369 (4) 1421

If (n((e — 1)e® + x%) = x% + y2, then dy
dx| g

is

(1)0 2)1 (3)2 4) 4

If o is the interior angle of a regular octagon,
) tan6-1 4
lim ———  is

oo’ [sin O + cos 0]

then equal to
(Note : [k] denotes greatest integer less than
or equal to k)

(o 2)-1 3)1 4) 2

Let f(x) and g(x) be differentiable functions
on R. If h(x) = f(g(f(x))), where f(2) = 1,
g(l) = 2 and f'(2) = g'(1) = 4, then h'(2) is
equal to -
(1) 8 (2) 16

(3)64  (4)36

Let the line y —~/3x +3 =0 cuts the parabola

2y? = 2x + 3 at A and B. If P(J§,0), then

value of |PA — PB| is [where PA denotes
distance between points P and A] -

6+44/3 2
(m) = @ 3
@) 76 +348J§ @ 76 ~348J§

If tangents are drawn from point
P(3sin® + 4cosb, 3cosd — 4sinb), O =§

2 2

= gl , then angle

16 9
between the tangents is -

to the ellipse

5 @ 7

3rn T
(3) ry 4) 3
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62.

63.

64.

65.

66.

67.

o P, 990 H TEed v = x2 1 THIHO T
A U I C 9vae # forg, P whi 9r fafy= fagait
R yfawe &t 81 afk 39 @ gfoek fog
(17,289), (-2,4), (13,169) &, T 9l =R Ufd=sg
forgsfi & waerd P &1 Faar & overad gl
IATHA BRI -

(11177 (2) 1247

(3) 1369 (4) 1421

o e - D + x) = x + 2 B, 3
Xla,0)

-zﬁ'rn_

mo @1 @2 @4

AR o TH FHTRT FI ARE F A, A

tan6-1 SR

m-——
6—a” [8in 0 + cos 0]

(A2 : [.] 7T qUifeh e i S 8)

(1) 0 62

(3)1 (4) 2

WA f(x) T g(x) OhHIT Hed €, it R #
RIfE €1 h(x) = f(g(f(x), ST £(2) = 1,
g(1) =27 f1(2) = g'(1) = 4 |, T h'(2) SN
'EﬁTIT—
(1) 8

(2)16  (3)64  (4)36

Ifg W@ y—3x+3=0, WITH 2y? = 2x + 3

F A T B W w81 ARG P(3,0) A, @

|PA — PB| &1 ¥/ = [SRI PA, fog P aen A
o HeA g i gl ¥ -

6+ 4+/3 2
=3 @ 5
® 76 + 4843 @ 76— 483
3 3

s fog

P(3sinO + 4cos0, 3cosh — 4sinb), 6 :%

vt X Ly e e i,

9
1 =3 et & qem o -
T T
(1 3 (2) 1
3n b
(3 ) (4) 5
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68. Length of latusrectum of curve xy = 7x + 5y is | 68. I% xy = Tx + Jy o Ve i <TFaTg SRt
(1) V280 () 225 (1) V280 (2) V225
(3) V180 (4) /325 (3) V180 (4) \/325
69. The point of intersection of tangents at the |69. wWaey y? =4x & TN & RRI W Wi T wd
ends of the latus rectum of the parabola Ygrell @1 wfeees fog @
y?=4x is
1) (1, 2)(-1,0
(1) (1, 0) 2) (-1, 0) Esi Eo ; 54; ;O 1;
(3) (0, 1) (4) (0,-1) ’ ’
70. If the points (au?, 2au) and (aw?, 2av) are the T :;%{ fag (‘GI;;’TZZ;);%(%UZ’ZGU) RACTT y* = dax
extremities of a focal chord of the parabola » 9
v? = dax, then
1) w-1=0 2 1=0
(1) w-1=0 (2) w+1=0 23; * §4; wr
il g
(3) u+v=0 (4) u-v=0 Hre v
INTEGER TYPE
i ax’* +bx+c 1 r ax’ +bx+c 1
1m = — = —
Mo Mol (2x-1) 2 M 21y 2
_ _ — C (x—al)(x-b)(x-c
then lim(x a)(x=b)(x=c) is GEl l_lm( )( )( )'@"'IT
x—2 X = =2 x—2
4 2xrele +a-3 4B . € 72. i{w}:/;_,_ B b 9 :
72, It & P 4x—3 - (x_1)2 (x+2)2 x| X +x-2 (x=1) (x+2)

then(A-B+C)is

73. The number of integral values of m, for which the
x-co-ordinate of the point of intersection of the
lines 3x+4y=9 and y=mx+1is also an integer is

74. The area enclosed within the curve | x|+ |y|=11is

75. The radius of the circle having its centre at (0, 3)
and passing through the foci of the ellipse

22
x—+y—:1, is
16 9
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i

T (A -B+C)7m

73. m & Qe A @ ", e fog e
3x+4y=9 AT y=mx+la§§ﬁ%ﬁ®_c{]%[*_§fﬁfx—
fder® W va quie &, &

74. TF |x|+|y|=1 W URGG &F FT aFGA &

75. g @ row frger @ (0,3) @ S &gy

LY @A £
E‘F?:l W '
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